Anti Ulam Spirals

You might be aware of the Ulam spiral. Your task in this problem is to print a finite Ulam-like
spiral of integers but starting with 1 at the upper left corner (please consult the example below).

Input

You are given one integer t, denoting the number of testcases (t <= 100). In each of the following ¢
lines one positive integer n ( n <= 200) - the requested size of the spiral.

Output

For each of the test cases output the requested spiral. Separate succesive cases by an empty
line.

Example

Output:
12
4 3

1234
121314 5
111615 6
10 9 8 7

1
12345

16171819 6
15242520 7

14232221 8
13121110 9

Scoring

By solving this problem you score 10 points.


http://en.wikipedia.org/wiki/Ulam_spiral
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